(Jbs Ogelao ) 51 41285 o Jooasi o Sl

-1 Jguo

=Y Jgua

=¥ Jgua

"~

G Ol =03l SiST 5 = o (slad— I3 (g lone
o3l m(lid (i G late — S jud985- Sl
—dole yg Wil olasdl Glosd— ¢ Pguels Closs— 28
—ol sl (2l 4 =B g Joo 9 Sl
Sk polie —culidlsn

Bl = GgSue 5 (obigel (sl lazlo (3l ped
— il o839 ,8= gyl oy — (lunlm g 0l (b —o39u 8
— g, —oMSl 5 ol S (o)l - gjlyiy
09,5 = bl i lalllas — S —e M5 — (g)sliS
bl 095 —(paes 09,5 — (Sib b e

09,589 i 09,5 —(gjlww

o Gomwlegil = (65 5]

Ao

1,100

Y""’

175000

Y""’

7o




